UTILITY	480 - RES SALES	481- COMMERCIAL & INDUSTRIAL SALES	482 - OTHER SALES TO PUB AUTH	483 - SALES FOR RESALE	TOTAL
AETHON UNITED GAS LP					_
				1,967,034 \$5,008,116.29	1,967,034 \$5,008,116.29
				\$2.55	\$2.55
ATMOS ENERGY, WEST TEXAS DIVISION				31,191	31,191
				\$73,139.00	\$73,139.00
				\$2.34	\$2.34
BARNETT GATHERING, LLC		353,252		2,212,092	2,565,344
		\$1,813,387.73 \$5.13		\$4,006,377.77 \$1.81	\$5,819,765.50 \$2.27
DI VONDDIICH O 8 C III C		ψ0.10		ψ1.01	ΨΣ.Σ1
BLACKBRUSH O & G, LLC				29,639	29,639
				\$72,231.00 \$2.44	\$72,231.00 \$2.44
BOARDWALK FIELD SERVICES, LLC					
				24,397 \$84,414.00	24,397 \$84,414.00
				\$3.46	\$3.46
BOARDWALK TEXAS INTRASTATE, LLC					
				92,757 \$344,587.00	92,757 \$344,587.00
				\$3.71	\$3.71
BTA ETG GATHERING LLC				4.005.000	4 005 000
				1,925,800 \$5,398,122.00	1,925,800 \$5,398,122.00
				\$2.80	\$2.80
CENTANA INTRASTATE PIPELINE, LLC		25,168,747		5,471,006	30,639,753
		\$81,262,028.00 \$3.23		\$20,911,421.00 \$3.82	\$102,173,449.00 \$3.33
OOOFNIT MIDOTDE AM WESTEY I LO		ψ3.23		ψ3.02	ψ3.33
COGENT MIDSTREAM WESTEX, LLC				57,992,753	57,992,753
				\$134,677,078.98 \$2.32	\$134,677,078.98 \$2.32
COPANO PIPELINES/SOUTH TEXAS LLC					
00.7.1.0 . 1. 22.1.23,000 . 1. 1.27.10 220				175,048 \$512,822.00	175,048 \$512,822.00
				\$2.93	\$2.93
COPANO PIPELINES/UP GLFCOAST LLC					
				273,528 \$1,097,677.00	273,528 \$1,097,677.00
				\$4.01	\$4.01
CPR PIPELINE LLC		137,543		27,311	164,854
		\$838,672.00		\$132,877.00	\$971,549.00
		\$6.10		\$4.87	\$5.89
DCP GUADALUPE PIPELINE, LLC		23,952,088		77,630,775	101,582,863
		\$77,989,659.00 \$3.26		\$234,085,379.00 \$3.02	\$312,075,038.00 \$3.07
DOW PIPELINE COMPANY		ψ0.20		ψ3.02	ψ0.07
DOW PIPELINE COMPANY	5,240				619,909
	\$15,431.61 \$2.94	\$1,870,493.29 \$3.04			\$1,885,924.90 \$3.04
EASTRANS, LLC					
- ·· · · · · · · · · · · · · · · · · ·				40,480,146	40,480,146 \$119,007,406.00
				\$119,007,406.00 \$2.94	\$119,007,406.00
EMPIRE PIPELINE CORPORATION					

UTILITY	480 - RES SALES	481- COMMERCIAL & INDUSTRIAL SALES	482 - OTHER SALES TO PUB AUTH	483 - SALES FOR RESALE	TOTAL
				2,974,034 \$7,302,049.91 \$2.46	2,974,034 \$7,302,049.91 \$2.46
ENCINAL GATHERING, LTD.				120,418 \$381,668.34 \$3.17	120,418 \$381,668.34 \$3.17
ENERGY TRANSFER FUEL, LP				285,591,353 \$792,896,994.05	285,591,353 \$792,896,994.05
ENTERPRISE TEXAS PIPELINE LLC				\$2.78	\$2.78 2,615,000
ETC KATY PIPELINE, LTD				\$8,728,650.00 \$3.34	\$8,728,650.00 \$3.34
				266,366,353 \$718,905,710.82 \$2.70	266,366,353 \$718,905,710.82 \$2.70
ETC TEXAS P/L, LTD.		1,889,799 \$1,638,239.76 \$0.87		420,550,666 \$1,091,287,714.17 \$2.59	422,440,465 \$1,092,925,953.93 \$2.59
FUELS COTTON VALLEY GATH, LLC				427,645 \$1,148,647.00 \$2.69	427,645 \$1,148,647.00 \$2.69
GATEWAY CORRIGAN LLC		188 \$943.34		,	188 \$943.34
GATEWAY PIPELINE COMPANY LLC		\$5.02 1,233,188			\$5.02 1,233,188
GRAYCO MIDSTREAM LLC		\$2,832,240.57 \$2.30		005.047	\$2,832,240.57 \$2.30
HOUGTON DIDE LINE COMPANY I				965,647 \$3,329,929.75 \$3.45	965,647 \$3,329,929.75 \$3.45
HOUSTON PIPE LINE COMPANY LP		141,488,973 \$462,205,096.95 \$3.27		653,760,831 \$2,016,858,618.31 \$3.09	795,249,804 \$2,479,063,715.26 \$3.12
JAMES CONSTRUCTION GROUP, L.L.C.		90,530 \$425,535.00 \$4.70			90,530 \$425,535.00 \$4.70
KINDER MORGAN KEYSTONE G S LLC				40,000 \$126,000.00 \$3.15	40,000 \$126,000.00 \$3.15
KINDER MORGAN TEJAS PIPELINE LLC		228,983,220 \$752,168,597.00		360,842,666	589,825,886 \$1,922,985,755.00
KINDER MORGAN TEXAS PIPELINE LLC		\$3.28 146,748,309		\$3.24 332,915,681	\$3.26 479,663,990
LGS RENEWABLES I, L.C.		\$479,314,958.00 \$3.27		\$1,050,970,240.00 \$3.16	\$1,530,285,198.00 \$3.19
		23,999,700 \$633,055.00			23,999,700 \$633,055.00

UTILITY	480 - RES SALES	481- COMMERCIAL & INDUSTRIAL SALES	482 - OTHER SALES TO PUB AUTH	483 - SALES FOR RESALE	TOTAL
		\$0.03			\$0.03
LOBO PIPELINE COMPANY LLC				22,927,505	22,927,505
				\$73,586,820.00 \$3.21	\$73,586,820.00 \$3.21
LUCID ENERGY DELAWARE, LLC				***	***
				365,970 \$690,916.00	365,970 \$690,916.00
				\$1.89	\$1.89
MIDCOAST G & P (EAST TEXAS) L.P.		4,125,359		169,729,733	173,855,092
		\$13,701,265.51 \$3.32		\$494,764,349.52 \$2.92	\$508,465,615.03 \$2.92
MIDOCAOT DIDELINES (E TV) L D		\$3.32		\$2.92	\$2.92
MIDCOAST PIPELINES (E TX) L.P.		20,610,513		116,112,995	136,723,508
		\$67,727,465.53 \$3.29		\$349,505,227.72 \$3.01	\$417,232,693.25 \$3.05
MONTGOMERY GAS TRANSMISSION, INC					
				185,644 \$1,258,488.84	185,644 \$1,258,488.84
				\$6.78	\$6.78
MONUMENT PIPELINE, LP				3,133	3,133
				\$14,733.00 \$4.70	\$14,733.00 \$4.70
NTU PIPELINE, LLC					
				688,082 \$2,398,222.87	688,082 \$2,398,222.87
				\$3.49	\$3.49
OASIS PIPELINE, L.P.				393,204,380	393,204,380
				\$1,152,997,793.89 \$2.93	\$1,152,997,793.89 \$2.93
ONEOK WESTEX TRANSMISSION,L.L.C.				\$2.00	Ψ2.00
ONE ON WEOTER THOMAS ON, E.E.O.		7,453 \$15,998.00		1,239,460 \$3,799,799.00	1,246,913 \$3,815,797.00
		\$2.15		\$3.07	\$3.06
PELICAN RESERVE PIPELINE COMPANY				67.747	67,717
				67,717 \$185,623.71 \$2.74	\$185,623.71 \$2.74
DENINGULA DIDELINES (NITVILLO				\$2.74	\$2.74
PENINSULA PIPELINES (N TX) LLC				470,340	470,340
				\$837,460.26 \$1.78	\$837,460.26 \$1.78
PETROLEUM FUELS COMPANY, INC.		40.054		00.077	107 700
		46,851 \$206,952.58		60,877 \$422,327.57	107,728 \$629,280.15
		\$4.42		\$6.94	\$5.84
PETROLEUM FUELS MIDSTREAM HOLDING LL	.C	45,957		248,075	294,032
		\$204,306.76 \$4.45		\$1,130,826.78 \$4.56	\$1,335,133.54 \$4.54
PINNACLE GAS TREATING LLC					
				75,863 \$192,418.32	75,863 \$192,418.32
				\$2.54	\$2.54
RED BLUFF EXPRESS PIPELINE, LLC				29,942,977	29,942,977
				\$54,266,368.77 \$1.81	\$54,266,368.77 \$1.81

		481- COMMERCIAL &	482 - OTHER SALES	483 - SALES FOR	
UTILITY	480 - RES SALES	INDUSTRIAL SALES	TO PUB AUTH	RESALE	TOTAL
ROADRUNNER GAS TRANSMISSION, LLC					
				498,611 \$1,232,739.67	498,611 \$1,232,739.67
				\$1,232,739.67 \$2.47	\$1,232,739.67 \$2.47
				φ2.47	\$2.47
TEXAS MIDSTREAM GAS SVCS, LLC					
				146,302	146,302
				\$293,373.00	\$293,373.00
				\$2.01	\$2.01
TREND GATHERING & TREATING, LLC		387,208			387,208
		\$2,083,710.73			\$2,083,710.73
		\$5.38			\$5.38
		ψ0.50			ψ0.50
TRISTATE ETX, LLC					
				634,405	634,405
				\$1,918,921.00	\$1,918,921.00
				\$3.02	\$3.02
WEST TEXAS GAS, INC.					
WEST TEXAS GAS, INC.		8,423	1,500	269,079	279,002
		\$36,360.00	\$8,813.00	\$517,609.00	\$562,782.00
		\$4.32	\$5.88	\$1.92	\$2.02
1486 GAS PIPELINE, LLC					
				22,110	
				\$148,375.00	\$148,375.00
				\$6.71	\$6.71
MMBTU SOLD TOTALS	5,240	619,891,970	1,500	3,252,397,029	3,872,295,739
REVENUE TOTALS	\$15,431.61	\$1,946,968,964.75	\$8,813.00		\$11,475,320,631.67
MCF TOTALS	\$2.94	\$3.14	\$5.88	\$2.93	\$2.96
	* *	**		•	

Source: Gathering Utilities - 2018 Gathering Annual Report - Page 9
Transmission Utilities - 2018 Transmission Annual Report - Page 27